DILO soldering unions

C 3107-06



DILO soldering unions

PN64
Soldering stub-soldering union

h7_| 1
hi
L1
Tube outside d2 d3 L1 1 h1 h3 | h6 | h7 | m1 | m2 | i1 s1 s3 Order No.
diameter @ AD
10 8 M20x15 | 35 [ 20 | 95 | 4 | 8 | 8 | 18 | 4 | 12 | 22 | 24 | ML1A-AD10P
10 8 M20x1,5 | 35 | 20 | 95 | 4 8 | 18| 4 | 12| 22 | 24 | ML1A-AD10C
15 12 | M26x1,5 | 52 | 22 | 135 | 5 | 10| 10| 20| 5 | 12 | 27 | 32 | ML1A-AD15P
22 19 M36x2 54 | 31 | 155 | 6 | 12|12 | 26 | 7 | 16 | 41 | 41 | ML1A-AD22 P
22 19 M36x2 54 | 31 | 155 | 6 |12 | 12 | 26 | 7 | 16 | 41 | 41 | ML1A-AD22C
42 35 M56x2 65 | 37 | 195 | 7 | 20| 20| 29| 7 | 18| 60 | 65 | ML1A-AD42P
42 35 M56x2 656 | 37 | 195 | 7 |20 20| 29| 7 | 18| 60 | 65 | ML1A-AD42C
Piece Designation Order No. Material
1 Soldering shoulder-tongue part | ML1-AD -1 P = Brass / C = Stainless steel
2 Clamping nut ML1-AD -2 P = Brass / C = Stainless steel
3 Soldering stub-groove part ML1-AD -3 P = Brass / C = Stainless steel

Note: For the nominal width (outside diameter 10) the clamping nut is made of stainless steel.

C 3107-06




PN64

Screw-in stub-soldering union with O-ring

i s3 s
I V|
—l—\—-‘
i
aln | M [ |~
| D] T [ T [“ T
:
+ - f _‘/ )
1
I\
nelh3 L iL-] | |02
h7. | 12
hj//
Spare O-ring 1 L2 i
Order No. AD10: 05-0057-R016
AD15: 05-0057-R087
AD22: 05-0057-R039
AD42: 05-0057-R126
Tube outside | d2 d3 da d7 [ L2 | 12 h1 |h3|h7 | m1|m2]| i1 | i2 [a2| s2 | s3 Order No.
diameter
@ AD
10 8 | M20x1,5 | M16x1,5| 26 | 40 | 25| 95 | 4 | 8 | 18| 4 | 12|12 | 2 | 27 | 24 | ML1BO-AD10 P
10 8 | M20x1,5 | M16x1,5 |26 |40 | 25| 95 | 4 | 8 [ 18| 4 (12|12 | 2 | 27 | 24 | ML1BO-AD10T
10 8 [ M20x15| G3/8A | 26|40 (25| 95 | 4 [ 8| 18| 4 | 12|12 2 | 27 | 24 [ ML1BO-AD10G P
10 8 [ M20x1,5| G3/8A | 26|40 |25 | 95 | 4|8 | 18| 4 | 12|12 | 2 | 27 | 24 | ML1BO-AD10GT
15 12 | M26x15 | G'A |32 (47|27 135 |5 |10]| 20| 5 |12 |14 | 3 | 32 [ 32 | ML1BO-AD15G P
22 19| M36x2 | M33x2 |49 |59 |36|155 |6 |12|26| 7 [16 18| 3 [ 50 | 41 | ML1BO-AD22 P
22 19| M36x2 | M33x2 [49 |59 |36|155 |6 |12|26| 7 [16 18| 3 [ 50 | 41 | ML1BO-AD22T
22 19| M36x2 | G1A |49 (5936|155 |6 [12]| 26| 7 | 16|18 | 3 | 50 | 41 [ ML1BO-AD22G P
22 19| M36x2 | G1A |49 (5936|155 |6 |12 26| 7 |16 18| 3 | 50 | 41 | ML1BO-AD22GT
42 35| Ms6x2 | G1%A [65 |69 |41 | 195 | 7 |20[29| 7 [18]| 22| 3 | 65| 65 | ML1BO-AD42G P
Piece Designation Order No. Material
1 Soldering shoulder-tongue part | ML1-AD -1 P = Brass / C = Stainless steel
2 Clamping nut ML1-AD -2 P = Brass / C = Stainless steel
13 Screw-in stub
(M16x1,5 / M33x2) ML1-AD -13 P =Brass /T =AL
14 Screw-in stub
(G3)BA/G2A/G1A/ ML1-AD -14 P =Brass /T =AL
G 1'2A)

Note: For the nominal width (outside diameter 10) the clamping nut is made of stainless steel.
Regarding material AL only part 13 or 14 is made of AL, part 1 and 2 are made of stainless steel.

In special version the screw-in thread can also be supplied with sealing edge according to DIN 3852-1
and DIN EN ISO 1179.

C 3107-06




DILO soldering unions

PN64 DNS8
Gauge union

O®
ml a a \\\\\
1
|2 % t%g(
a0 ] ‘\obt
J ~
me|h3 it iS5 Ve
== /
- /s
L10 ///I
Tube outside | d2 d3 da d19 [L10|110| h1 |h3 [ h7 [m1|m2|i1 | i5|s3|s8 Order No.
diameter
@ AD
10 8 | M20x1,5| G1/2 | 75 | 49 [34| 95 | 4 | 8 | 18| 4 | 12| 16 | 24 | 24 | ML1M-AD10/51
10 8 | M20x1,5| G1/4 | 55 | 44 [29| 95 | 4 [ 8 | 18| 4 | 12| 13| 24 | 22 | ML1M-AD10/59
Piece Designation Order No. Material
1 Soldering shoulder-tongue part | ML1-AD10-1 P Brass
2 Clamping nut ML1-AD10-2 C Stainless steel
3 Gauge connecting piece M1-10-51 P Brass
3 Gauge connecting piece M1-10-69 P Brass

C 3107-06




PN64 DNS8
Gauge union

Order No.: 3-328-R020 P
Material: Brass

~ .—I [ I
e "

-

Suitable connecting Suitable connecting

parts parts
SwW32 ( )
)
N
Gauge with @ au ‘ - ML1-AD10-1
connecting thread al I a ML1-AD10-2
G%A 8 O <
| 2 LA =1
13,5
- 30
Spare O-ring

Order No. 05-0057-R225

C 3107-06




DILO soldering unions

PN64

Blanking disk

LJ

X
7
h3
|
Tube outside diameter @ AD h3 Order No. Material

10 1,5 ML1-10-8 P Brass

22 2 ML1-22-8 P Brass

42 3 ML1-42-8 P Brass

PN64
—
S ~
il a2
nl
Metric fine thread ISO Whitworth pipe thread Spare O-ring
da d7 | n1|i1]|a2|s2 Order No. Material d4a Order No. Material Order No.

2323112 2 | 24 G1/4A | VST03/G 1/4 AT AL 05-0057-R088
M16x1,56 |26 | 24 | 12| 2 | 27 | VST03/M16x1,5 AL G3/8A | VST03/G 3/8AT AL 05-0057-R016
36 |32]|15| 3 | 36 G1/2A | VST03/G 1/2AT AL 05-0057-R033
M33x2 |49 |38 |18 | 3 | 50 | VST03/M33x2T AL G1A VST03/G1AT AL 05-0057-R039
65|45|22| 3 | 65 G1%A | VSTO3/G 12AT AL 05-0057-R126

C 3107-06



Tee piece

L
/\ v
1
— | -
| |
~

i =
|

d2

AD

Tube outside Order No. Material

diameter @ AD

05-1545-R003

Angle piece

| Ve
[ et
I
]
‘thF-—5\—""1—
I
[}
| -
)
| .
~ 1
= |
]
d2
AD
Tube outside Order No. Material

diameter @ AD

05-1545-R007

C 3107-06




DILO soldering unions

Plug-in angle piece

L2
1
f
4
R —T o
!
r I /
E |
|
1
d2
AD
Tube outside Order No. Material

diameter @ AD

o | 2 | [0 [ 2 [ 5 | 1 [ osvsesnon |

05-1545-R013

C 3107-06

Subject to change without notice.

© Copyright DILO



